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Ch.3 Review - Solwhons

l. &) no; +his is & radical funchon
b) yes; u* degree polynomial function
¢ yes; 3 degree  polynomial function

d) yes; 1 degree polynomial funchon

2.0) hoo s x' -3 +5x b po = =X} 4sxt -x 4y
quarhic cubic
up in @2 and QI upm @t , down m Q@4
up b 4 x-indercepis up to 3 x-intercepts
{h(o) = 0% - 3(0) + 500) plo = -0 +500-0+y
hto) = 0 peo = 4
y-int is (0,0 y-int is  (0%)
¢ y=3:x-2 d)ys—zx‘—q
linear quadrahe
down in @3, wp n QI down 1 Q3% and QY%
up o one x-infercept up b 2 x-intercepts
y =30)-2 y= -o'- 4
y= -1 y= -4
y-int s (0,-2) y-int vs (0,-4)

e) #x) = 2x7-3x® +1
quinhe
down in @3, up in @I
up b 5 x-intercepts
o) = 2(0)° - 3(0)* +)
tCo) = |
y-int. is (0,1)

3 a) (xX*+9x* -65x+3) =+ (x-2) x*+ x4+
P(2) = (2> + A0)*- 5(2) +3 x-zlx’+9x‘-5x +3
P(2) = 8 + 36-10+3 -(x* - 2x¥) |
Pe) = 37 1x* - 5x x3+ oxt-5x+3 = xP4lx+17 + 31
Remainder = =(lix*-22x) x-2 x-t
Mx +3

= (1x -34)

Remainds¢ 1
—
by (23+ x*-2x+1) = ( x+1) +1]l2 1 -2 !
PC-1) = 2(-1 + (-0 = 2¢-D) + 1 2x3 + x - 2x + |
P-1) = -2 + 1 +2 +1 - 2 bl | X+
PG - 2 I @
R =12 Kemaindls
©) (~8x*—ux+ 10x3+15) = (x+1) -8x3+ 13x%-18x + 1%
Pe-1) = -8¢DY - 4 + 1060 415 x+1 |-8x" +10x® + Oxt-ux + 15
P1) = -8 + 4 —10 +13 -(—8x* -8x?) |
PG = ) 18x3 + Dx*
@ - (18x* + 18x*)
- 18x* - 4x -8x" - 4x +10x> +I5 = -8 +18xt—i8x+14 +_ |
-(—18x*-18x) x+1 x+1
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14x + 15

=(4x +14)
ey
Remamnder _»
Ya) far = x* + kx® -3x -5 < by x-3 ==
(9 + k(3)*-33) -5 = -
8] + 29K - 9-58 = -4
bl + 27K = -4
27k = -8l
b foo o=t —;xisx-s T by  x+3
f-3) = (-3)* -3(-3® - 3¢3) -5
f(-3) = 81+ 8l+9-5
f-3) = Wb
5. P(x) = 4x® —3x* + bx + b same remainder when divided by
(x=1) and (x+3)
P(Y = w(1® -20)* + b + & P(-3) = u(-3)° = 3¢-3)" + b(-3) + &
P = 4 -3 + b +6 P(-3) = =108 — 27 -3b +6
Pcry = T+b P(-3) = -129-3b
P(1) = PC3)
T+b = -10129-3p
Ub = -3
6. a) X} -Uxt +x+06 factors of b 2\, %2,%3,t0
X = -1 works (-D*-uEDT-1 +6
<l -y -1 +b
$o x+| is °
a fad‘w!
l ' I -4 1 b
-1 4 1 -5 b
x| 1 -5 e
(x+1)(x*-5x+b)
o
x? - uxt +x+ b = (x+)(x-2)(x-32)
b) - wx® — Ux® + lox +lbe
factor out -4 firs+
(x4 xP - ux -4 ) factors of -4 {21,t2,2u}
try %z -l 1P+ P —uc--y
=l 4+ +Y4 -4
x+l  is o fachr ! 0
Hfr 1 -4 -y
-4 | 0 -4
xl1 0 -4 o

S (x4+1)(xt - &)
| I

Chapter 3 Page 2



-4 (x+1)(xt - &)
——

factr C diff of squares)

- ux® —yxt Flbox +lb = -y (x+1)(x+2XNx-2)

0 x* - e —x* +lox -2 factors of - {31,22,23, %4, 2,21}
ty x = | mt-uva?-mt+ em-n o

so x-)1 Is & fachr

=1 | -4 - lo -
-4 = 3 u -1
1 -3 -4 n o

(x-1)(x® = 3x*-ux+12)

factor fachrs of 12 1t), %2, t3, 2y, 2t}
ty x =2 (22 - 3(2P-ww)+12 = O

So -2 is a Hfactor

-2l -3 -4 12
—|L -2 2 1
x[1 -1 -e 0

(x=-)(x=-2)(x*=-x -6 )
C————

factor

Xt - gxd - Xt o+ ox ~ 1L = (x=D)x-2)(x -3)(x+2)

(x> + ux* - 2kx +3 ) = (x+3) R =0
(-3 + 43" -2K(-3) + 3 =o
-21 + 3b + 6k + 3 = O
1Z + ok = 0
K = -2
a) y = (X+1)(x=-2)(x+3)
x-n'm‘ercegh- degree end behavior
(-1,0) 2 down Mm Q@3
(z2,0) up m Q)
(-3,0)
2eros ond mMulthplicihy g‘-.m.
= - va.lv.eofj when x = 0
2ach have
x= 2 = (0+1)(0-2)(0+32
muit. of | y=( (e-Dio+s)
X = -3 y = (nNE2)C)
y =-b or (0,-v)
intervals

groph
yosf‘h’vc P —3exe-) /.\ l ) /

s
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yost"h've T —3exe-) YA 1

x >2 /

neja.h‘ve X e=-3

“lex <« 2

b) y = (x-;)(l-&‘b)"

X - intercepts degree end ehavior
(Blo) 3 down 0] az
(-2,0) up h Q)

zeros and mulhphicihy g—'m‘i'.
X = 3 mult . of | 5 = (0_3)(0_‘_1)1-
X = -7 } mult. of 2 y = (-3X %)
y = - "2 or (0,-12)
indervals gmph

posi'h've o x > 3 ol

nega:l'fw. DX <=2

“2ex<3

) glx)= x —lox?
qx) = x*(x* -le)
g(x) = x* (x=-4)(x+4)

X- im‘ercegh degree end behavior
(0,0) Y up h G2 £ Q)
(4,0)
(-4,0)
zervs and mul‘h‘pllcnh,’ y -int
X =0 mult. of T y= o or Coj0)
x = 4 } mui. of |
X = -4 ea .
Iv;-lervul: 9""2"
PosH’\'vc : x ¢-Y4
x > % '\ f
[ | FEE—
nega:ﬂvg : -4<x ¢ O
O ¢ x ¢ Y
3
9 a) Fw) = (x+2) (x+1) by fx) = = (x+1)(x-2)
10. a) X= -1

x = 3 mult. of 2
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fwy =

(x+2)(x+1)(x-3)*

or  fx) = = (x+)(x+)(x-3)
by (2,2 f) = a (x#2)(x+H)(x-3)%
Y 24 = a (2+2)(2+)(2-3)°
= a(ne)Ent
¥ = 1o
A =

o

fx) = 2(x+2)(x+)(x-3)t
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